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I. PART 1. LISTENING
Listening 1: Listen to the recording about relationship problems between parents and teenage children and decide True/ False statements
Question 1: Parents sometimes find it hard to talk to their teenage children.
1. True 	B. False
Question 2: Teenagers always like talking about their school work.
	A. True	B. False
Question 3: Teenagers hate questions that aim to check up on them.
	A. True	B. False
Question 4: Parents should push their teenage children to talk about school, work and future plans, if necessary.
	A. True 	B. False

Listening 2: Listen to the conversation between Kevin and Mai and choose the correct option for each question below 
Question 5: Kevin’s and Mai’s assignment is due in ____________.
	A. next week	B. two weeks	               C. this week
Question 6: Kevin is interested in ____________.
	A. helping the environment  
	B. working with people 			
	C. raising money to help the poor
Question 7: “Green hands” is _____________.
	A. a child support organization 
	B. an environmental organization 	
	C. a senior center
Question 8: Kevin’s mom is working ___________.
	A. for an environmental organization  
	B. at a school 
	C. at a senior center
KEYS:

	1A
	2B
	3A
	4B
	5B
	6A
	7B
	8C



II.LANGUAGE 
Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 
Question 9:   A.access	   B. afford	  C.casual	D. brand
Question 10: A. vision 	 B. infectious                    C. disabled	 D.constitution 	
Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions. Question 11: 
Question 11: Vietnam has become more attractive to foreign____________
       A. investors                     B. invest                           C. investment	D. investor
Question 12: Deforestation is one of the biggest environment threats to the ________ in the worlD.
       A. infectious diseases	B. ecological balance	C. carbon footprint	D. greenhouse gases
Question 13: A strong greenhouse effect will warm the oceans and partially melt glaciers, increasing _______.
       A. temperature 	          B. sea water 		  C. sea level		      D. pollution
Question 14: ________ one hand on the steering wheel, Ann opened a can of soda pop with her free hand
      A. to keep                       B. keep                            C. kept                             D. keeping
Question 15: You should give up ________ your sister.
      A. being bullied                B. bullied                          C. bullying                         D. to bully
Question 16: Tom sounded _________ when I spoke to him on the phone.
     A. angry                           B. angrily 			C. to be angry                    D. to be angrily

III. PART 3. READING
        The costs and benefits of global warming will vary greatly from area to areA. For moderate climate change, the balance can be difficult to assess. But the larger the change in climate, the more negative the consequences will become. Global warming will probably make life harder, not easier, for most people. This is mainly because we have already built enormous infrastructure based on the climate we now have. 
People in some temperate zones may benefit from milder winters, more abundant rainfall, and expanding crop production zones. But people in other areas will suffer from increased heat waves, coastal erosion, rising sea level more erratic rainfall, and droughts. 
The crops, natural vegetation, and domesticated and wild animals (including seafood) that sustain people in a given area may be unable to adapt to local or regional changes in climate. The ranges of diseases and insect pests that are limited by temperature may expand, if other environmental conditions are also favourable. 
In its summary report on the impacts of climate change, the Intergovernmental Panel on Climate Change stated, "Taken as a whole, the range of published evidence indicates that the net damage costs of climate change are likely to be significant and to increase over time.” 
Question 17. What is the main idea of the passage?
A. Environment pollution is real. 		B. Reasons why low-lying areas are floodeD. 
C. Solutions to global warming.		D. Reasons why global warming is a problem. 
Question 18.  In paragraph 1, the word “this” refers to ____.
A. harder life as a result of global warming 		B. easier life as a result of global warming 
C. climate change on global scale			D. flood in low-lying areas 
Question 19.  In paragraph 2, the word “erratic” is closest in meaning to ____.
A. predictable		B. unpredictable 		C. changeable		D. unchangeable 
Question 20. According to the passage, all of the following are the results of global warming EXCEPT ____. 
A. higher temperature		B. coastal erosion  	C. stable rainfall          D. increasing sea level
Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase that best fits each of the numbered blanks. 
Fathers in today families are spending more time with their children than at any point in the past 100 years. Although the number of hours the average woman spends at home with her children has declined since the early 1900s, (21)____  more and more women enter the workforce, there has been a decrease in the number of children per family and an increase in individual attention to each child. As a result, mothers today in the United States, (22) ____ those who work part- or full-time, spend almost twice as much time with each child as mothers did in the 1920s. People (23) ____ raised children in the 1940s and 1950s typically report that their own adult children and grandchildren communicate far better with their kids and spend more time helping with homework than they did. 
America's children are also safer today than they've ever been. An infant was four times more likely to die in the 1950s than today. A parent then was 27 per cent more likely to lose an older teen (24) ____ death. 
21. A. as			B. due to 		C. so			D. although
22. A. adding 			B. counting 		C. taking		D. including 
23. A. whom 			B. which 		C. who			D. when 
24. A. in			B. for 			C. to			D. with 
WRITING
Mark the letter A, B, C, or D to indicate the underlined part that needs correction in each of the following questions (0,5 point)
Question 25: The food was good with reasonable price, but the service was slowly.
                            A                  B	          C		         D
Question 26:  I have been listening to your speech, but I am doubting what you are saying. I don't feel 
                                        A					 B		            C	          D
that it is a good idea.	
Finish each of the following sentences in such a way that it means the same as the sentence printed before it (0,5 point)
Question 27: I last drank champagne at my brother's wedding. 
1. I haven’t ………………………………………………………………………………….
Question 28: After they had spent all their saving money, they started doing some odd jobs to make ends meet.	
1. Having ……………………………………………………………………………………..

Answer key:
Question 27: I haven’t drunk champagne since my brother's wedding. 
Question 28: Having spent all their saving money, they started doing some odd jobs to make ends meet.	

Write a paragraph (120 - 150 words) to express your opinion about the statement below. You can either agree or disagree with it. Use the ideas in the table to help you (1,0 point)
	Living with extended family helps bridge the generation gap.

	Agree
	Disagree

	1. Different generations share ideas, values, and experiences with each other on a regular basis.
1.  Different generations learn to understand and respect their differences.
	1. - There are often disagreements or even conflicts between different generations.
1. It is difficult to build healthy family relationships.





	




CRITERIA
	1. Form:  (0.25pt)
           + Paragraph                             
           + Easy to follow
           + Coherent
2. Content: (0.5pt)
          +Successful fulfillment of the task.
3. Language: (0.25pt) 
	+ Appropriate vocabulary 
	+ Suitable connectors 
	+ Correct grammar 
	+ Punctuating / Spelling 
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